Systems of Inequalities Practice
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Writing Linear Systems
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Solving Linear Inequalities
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Mikayla is the communications director for a politician and has recommended that a total of 41
Speaking events are given by the politcian before election day. Each speaking event is either a
formal speech or an informal talk. Mikayla also recommends a total of @ more formal speeches
than informal talks. Which of the following systems of equations can be used to find out the.
number of formal speeches § versus the number of informal talks £?

t=s5+9
s+t=41

t=s5+9
® Zila

O 3

+9
—41
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Today, the population of Canyon Fallsis 22,500 and the population of Swift Creek is 15,200
The population of Canyon Falls is decreasing at the rate of 740 people each year while the
population of Swift Creek s increasing at the rate of 1,500 people each year. Assuming these
rates continue into the future, in how many years from today will the population of Swift Creek
equal twice the population of Canyon Falls?
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The owner of a health food store is developing a new product that consists of peanuts and
raisins. Raisins cost $2.50 per pound and peanuts cost $3.50 per pound. The owner wants to
create 20 pounds of the product that cost $3.03 per pound. Which of the followiing systems of
equations can be used to determine the number of pounds of peanuts, . and the number of
pounds of aisins, 7, that should be combined?

p—r=20
@ 3.50p + 2.50r
350p +230r _ 53
20
ptr=20
3.50p + 2.50r
350p +230r _ 53
20
p—r=2

@ 3.50p +2.50r = 3.03

ptr=20

®

3.50p +2.50r = 3.03
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119 < 15ma — 8 < 27, where m s a positive constant, what is the possible range of values of

Any value greater than —3 or less than —9)

Any value greater than —9 and less than —3

Any value greater than —=— or less than — ——
m 15m

Any value greater than —

and less than — =—
m 3m
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1£3(r 4 300) = 6, then what s the value of 7 + 300 — 22
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Jerry has a large car which holds 22 gallons of fuel and gets 20 miles per gallon. Kate has a
smaller car which holds 16.5 gallons of fuel and gets 30 miles per gallon. If both cars have a full
tank of fuel now and drive the same distance, in how many miles wil the remaining fuel in each
tank be the same?

® 30
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Anoukis an engineer planning sound and lighting for a free concert in the park. The concert was
advertised with a promise to use no more than 108 kilowatts (KW) of power. It was determined
that the main contributors to power usage, speakers and floodlights, use 1.8 kW and 2.2 kW,
respectively. Anouk also must keep within her budget of $3,300. The rental company is
charging $75 for each speaker and $42 for each floodlight. Which of the following combinations.
meets Anouks requirements?

@ 40 speakers and 30 fioodights

12 speakers and 54 floodlights
@ 26 speakers and 13 fioodights

@ 38 speakers and 22 fioodights
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Vijay needs to take a taxi, which costs a flt fee of 3 dollars, plus an additional 4 dollars per mile
If Vijay has a dollars with him, which inequality shows the number of miles, 7, he can afford to
travel in the tax?
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The change machine at an arcade gives change in the form of 23-cent coins (quarters) and one-
dollar bills. The manager of the arcade would ike at least $30 worth of quarters and $100 worth
of one-dollar bills in the machine at al times. Also, the manager does not allow more than $500
in the machine at any time. What is the maximum number of quarters the manager would allow in
the change machine?

@ 200

400
@ 1,600
®

2,000
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In order to bring his business to the next level, Christov wants to gain at least 2,000 followers on
a popular social media platform. From his own personal account, he knows that each original
post gains him approximately 3 new followers and every 5 reposts gains about L. Which of the
following inequalities represents the numbers of posts, P, and reposts, R, Christov needs to
reach his goal of gaining at least 2,000 followers?

@ 3P +0.2R > 2,000
3P +5R < 2,000
@ 1P +5R > 2,000

@ 0.2P + 5R < 2,000
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A vegetable stand sells p pumpkins for $5.00 each and s squashes for $3.00 each. On Monday.
the stand sold 6 more squashes than pumpkins and made a total of $08.00. Which system of
equations can be used to determine the number of pumpkins and squashes sold?

3p+5s5 =98
s=p+6

® 3p+55=98
p=s+6

5p+3s =98
s=p+6
5p+3s =98

p=s+6




